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St=3 | 100,000 600,000 A500,000
401 Al&HI YL S OHYI 100,000 600,000 500,000
01 Al&H| 99, 100 595,680 A496,580
Oot=ZFH| 99, 100,000& 99, 100
03 AIZR0ibl 900 4,320 AN3,420
Ost=& ] 100,000,000% x0.90/100 900
HERXNS JIsaaEXN 2el 50,000 50,000 0
401 A EHIL 201 50,000 50,000 0
01 Al&HI 49,460 49,460 0
OREEY L S)| 448 49,460,000% 49,460
03 AIZ2R0iHl 540 540 0
OJIEr SCHHI 50,000,000 =1.08/100 540
HEEH 0™ 1,000,000 0 1,000,000
= 1,000,000
401 A EHIL 204 1,000,000 0 1,000,000
& 1,000,000
01 Al&H| 993,700 0 993,700
OSHIEXZ ALY 993,700
—HEZF 0l&AS 993,700,000& 993,700
L= 993,700
03 AIZ=20bl 6,300 0 6,300
OSHIEZ ALY 6,300




SN ALY
B ofd MU (RELX AN /ST
SHel: SHEEH 2 Gt EX (el @ e
_ _ _ Muo
SN FH-S(B) - MPAY - BHES O] & o4 il i~ o HRE2
EEEERERE
1,000, 000,000 *0.63/ 100 6,300
= 6,300
S ABHI (L D) (OIEH/IIE) 28,510 28,510 0
PR 28,510 28,510 0
PR 28,510 28,510 0
201 Y2 et] 11,710 11,710 0
01 At22telt| 11,710 11,710 0
Oget+ 2| 11,710,002 11,710
202 04 b 12,600 12,600 0
01 2LHOII 12,600 12,600 0
ORNESS (A, HOIL B4 5)
2,600,0002! 12,600
203 R ETH| 4,200 4,200 0
A R L] 4,200 4,200 0
LY EFELERS] 4,200, 0002 4,200
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